Date: Friday 27th March 2020
Skill: | can find 3/4
Activity: To use knowledge of 3/4 to solve problems.

Learning Power: Resilience

. Amir shares 12 beanbags into 4 equal groups.
Use the image to complete the sentences.

NI

One quarter of 12 is equal to
Two quarters of 12 isequal to ______
Three quarter of 12isequalto _____
Four quarters of 12 isequalto

. Use counters and a bar model to help you find %of 8
and 2 of 16. What do you notice?

. Use counters, cubes, or bar models to help you fill in the blanks:

Jof24= Jofd= Jof| [=5
of24 = ~of4= —of =15
30f24 = lof8 = Jof[ [=2
;of24= Zof8= ET]of8=6

Eva eats three-quarters of her sweets.

She eats these sweets.

How many sweets does Eva have left?




